








INSTALLATION

PART 2 — BRACKET INSTALLATION

1. Examine the Mounting Brackets and note that there is a 1/8” thick tab
located just below the slotted bolt hole in the top plate of the Mounting
Bracket (see right). The purpose of this tab is to assist you in holding the
Flange Nut {I} in place. To install, pry the “tab” down far enough so that a
Flange Nut can be inserted, then push the “tab” back up into position. The
Flange Nut should be able to slide in and out while the “tab” holds the nut
in place. When fastening the Base Rails to the Mounting Brackets, the
Flange Nut can easily be positioned under the square hole in the Base
Rail using a pen or other small tool. When tightening the Base Rail Bolts
with an impact gun, start slowly as the “tab” may otherwise “strip out.”

2. Using a clamp, place the driver side mounting bracket over the existing
holes in the frame, making sure it is flush with the side of the frame.

driver side mounting bracket
(underside view from inside the frame)

3. The mounting brackets require Anti-rotation Bolts {H} to be “fished”
through the frame to fasten the 5/8” bolt through the existing holes.

Thread an Anti-rotation bolt into the provided Bolt Leader {J}.

Fish the Bolt Leader and Anti-rotation Bolt through the large hole located on the back-side of the frame, and out
through the 5/8” hole in the frame and bracket on the outside of the frame (see illustration below).

INSTALLATION TIP: Prior to threading the anti-rotation bolt into the leader, thread the 5/8” Flange Nut {I} on and off
the bolt to assure that the nut will fit easily once the bolt is in place.

6. Once the anti-rotation bolt is seated in place, remove the bolt leader and fasten using a 5/8” Flange Nut. Hand tighten
only.

7. Install the remaining anti-rotation bolts in the same manner and repeat the above steps for the Passenger Side
Mounting Bracket.

SLOTTED BOLT
HOLE

.=

front
driver side mounting bracket interior view \‘

#2226 HD Custom ISR Installation Instructions (rev. 19.01.16:revA6) 9




INSTALLATION

PART 3 — SHIMMING THE BED

1. To prevent “crushing” of the corrugated truck bed,
we provide shims and backup plates to be installed
above and/or below the truck bed where necessary.
Not all truck beds are installed exactly the same
when manufactured, so it is necessary for you to
determine where to place your shims, relative to the
bolt locations (see Layout Method).

2. If you find that a bolt hole location is located over a
bed channel, you will need to use a Double Slotted
Bed Shim {F} to fill the space so it is even with
the top of the bed. Conversely, do the same if the
channel is located on the underside of the bed if
necessary.

PART 4 — FINAL INSTALLATION PROCEDURES

1. Set the hitch on the Industry Standard Rails by
centering the tabs on the bottom of the hitch into the
slots on the rails.

2. Install the hitch pins through the side of the base rails
to secure the hitch assembly to the base rails using
the supplied pin clips.

OUTER BOLT ASSEMBLY
l MIDDLE BOLTASSEMBLY

O~ 5 % ©

éi’ v/ /A =SSN

TRUCKBED\ — , ‘ H,U ﬂ =

Zz77777727777777 777772777 27777777 27 27777 777777 A7 FT 77 7777 77 T 77 777777 Z7 7777 7777777777777

\

[ B

©

B

— 0

—

ol | v“’ — }—y—’

| driver side mounting bracket-view from inside the frame (outer and middle bolt assemblies shown) |

3. Make certain the hitch comes on and off without binding prior to completing final torques.

Tighten all bolts, including the base rail bolts, according to the Torque Table.

10 #2226 HD Custom ISR Installation Instructions (rev. 19.01.16:revA6)

TORQUE TABLE
3/8” bolt — 31 ft. Ibs.
1/2” bolt — 75 ft. Ibs.
5/8” bolt — 151 ft. Ibs.
3/4” bolt — 266 ft. Ibs.




#2226 HD Custom ISR Installation Instructions (rev. 19.01.16:revA6)

1



MANUFACTURED BY:
PULLIAM ENTERPRISES, INC.
13790 East Jefferson Blvd.
Mishawaka, IN 46545
(574) 259-1520 -« (800) 443-2307
info@pullrite.com + www.pullrite.com



